L

‘PNg-1SuUoy sAiog uepbog
‘pPNg-1suoy | Me|jos zsnueq “zul JBw
‘PNQ-jsuoy yelukjoz ejelqz|3
ddn ¥N TO3dS TAVMOLAMIrodd
Z 60°20 00L:1L VrOVZAYVLNIMNI
NY31dvd LNZd
‘SAY UN viva YIVAIS ‘SAY 1OINA3Zyd

NMSHOMIZHd M ¢ JU F10MZSATZ4d

1M3190

40[4

NYSJOMBZId M
zieweley] ‘9 yoAmopialold bnisn pepiez

00L-1 e[exs
Ndd14dvd 1NZd

(0]%4

40[4

0.6
0€e

40[4

0ce

40[4

(0] %4

oL (0] %4 oL

0.0¢€
ock |

0ce

Ll
0¢

oo T oL

=

08 7

0€

40L44

14

0oL

G 1

40[4

0.6
0ce

40[4

(034

oL 0ee ToL7

(174

A
0.6

oL 0ce ToL7 0ee T 697 154 1.67g 0ee g1 oL o0ee ToL7 o1l
0€s 09¢€ ove
0L0€

0ce

40[4

40L4

1 0Ll ¢ 1
L Ly L L Ly L L L | L L | L L | L L
T70.7097T 06 T 08 1T 0L MM 08 7 00l ,om 0L (0] 94 1T 0L (0] 54 oL (0] 574 T 0L (0] 94 T 0L (0] 94 1oL
r-———">"=-— L 1
| | |
|| | %mNL_m Al i
i i === )b I ] 1 1 ]
T 1 1T _ 11 1 J 1 I |
= m woooz="y W woooz="y woogz="y B wuﬂ ung} ==y
—{0) D
q_wr@m. @ 2 M@H?% 00
oyiase] 099, = ! 1°
_BMOpOyOS BYIEN | ¢ v ——
N n@ m_;m.ov_m_m omw 1 ) BUBRO| 67
wnajoul| 008 ¢® @r )
ppedpoeu wiod ez =9 B A — ooped|0v24
ioparp od| 0
[ = =
& 2 5 % S|8 ¢
— o S [ ,N D\SNU
m 8 _m®ﬁ m .u\iﬂ ow
g wnooul| 097 ol ————IL i
W iz o B 22 N 002 i
o|©
e : e
_1
T m T oLl
wnajoul i =
W égﬁa%.ﬂL o@m . 9 e 067 g s
@;25&5 z
%) S —
1
o T —
[=l=) W feuey 7\ 7\
(0] 94 1oL
L
00z % w 00z 00€ 7
L L L L see see
1oL (0] 94 0.7 (0] 574
L L
1 009 || )74 1
| Rt
. y |
- g s . |
| | |
% oo D I
00z z ss !froc Oie "
gee m _ see [l gee see oo | 090" |
e i
= 1 |
| | JE -
L
)74 1
002 q - T g8
g€z 002 m Sez
00L 00z
— 06
— Jdddd Jddy 1
%1%1%1%1%) %1%1%]
I 00z ]
_ K 00k | _ #
) 00 | | OekLG XL 006
+ . ook || | ol f - L | L L
009 ! | I 00z woen o6 % S8 0€C oL 0€c oL 0€e oL
L L L L ! gez , | 06 sBdeEs| v w g€z
oL 0€C oL (AR R - |
08 o enen] -
&|o L 2opa\. | pogshyl “ &8 &8
1
|
__ | |
- - w00y 7 R |
i 2 u >
ooz || & N ° Yo
00k ,w . w |0 winajou| 022 EJOess} |04 9} ===
. .Lﬂw@/ g P NORZIPR| S 00z m
8 wnejout |0z
1” | w.w@go% Seveqezpeps| §
— ) -
b b 1 b ]
il N ul_ [N) N [N) _l.l
8|8 8|8 8|8 3|8 8|8
003 00z
W_ 001 0ol W
i B ; 2 w_, 3 N
%) © (%) ©
— - (%) S -
Ok -0 (%) o -0
[$B0S)
oG
_nw .:ﬁl
_H woge="4y unge="4 unge="4y woge="4y M _H unge="4 wogs="4y woge="Yy unge="4 H_
! ] ] 1 1 | | 1 1 1 1 1 |
| | | | | | | | | | | | |
8|8 8|& 8|& 8|& I ! 8|& 8|& 8\& 8|&
1 1
O — —— 1
<
Y
[
L L L L | L | L L | L L | L L L L L L
1oL (0] 74 0.7 (0194 104 (0] 94 1oL (0] 574 ) = 0¢C AL 1 oge 1oL (0] 54 1oL (0] 5r4 0L 0gee 1oL
L , , L
0LC 1L i 0¢C 1 0lC L 1
L L
YT A
A

oee
0.6

40L4

0ee

40[4




